Differentiation Strategy and Cost Leadership Strategy: Their Contribution to Achieving Sustainable Financial Performance



Juniarti Juniarti D, Clarissa Simanjaya, Marcella Chandra, and Zenia Estella Soesetyo

Abstract This research aims to study the influence of differentiation and costleadership strategy on sustainable financial performance with innovation as the moderator variable. This research uses the last 5 years financial report of go-public companies in South-East Asia, with a total of 250 firm years. In the early stage of the research, the companies are grouped into their respective strategy. From that grouping, each strategy is then measured. The researcher uses 5 measurements to test the strategies, 2 for differentiation strategy and 3 for cost-leadership strategy. The finding of this research is that differentiation positively influences sustainable financial performance, with innovation as the moderator variable. However, these findings are not proved in cost leadership strategy. Innovation shows partially influences to the achievement of sustainable financial performance. This research contributes to adding the innovation factor that strengthens the relationship between the successes of a strategy with the sustainable financial performance so that the result can be more consistent.

Keywords Strategy · Differentiation · Cost-leadership · Financial performance · Sustainable financial performance · Innovation

1 Introduction

Both differentiation and cost-leadership strategies have their respective roles in a company's success for sustainability. The success of the strategy chosen by the company is also influenced by innovation. The innovation factor is important in choosing between the two strategies, especially for companies that implement the differentiation strategy. In a differentiation strategy, innovation is a crucial factor for higher performance (Hull and Rothenberg 2008; Miller 1983; Porter 1990). This is due to the fast-paced globalization that causes increasingly fierce competition, which encourages companies to innovate their products, services, and corporate

J. Juniarti (🖾) · C. Simanjaya · M. Chandra · Z. E. Soesetyo

Petra Christian University, Surabaya, Indonesia e-mail: yunie@petra.ac.id

[©] The Author(s), under exclusive license to Springer Nature Switzerland AG 2022 M. Busu (ed.), *Digital Economy and New Value Creation*, Springer Proceedings in Business and Economics, https://doi.org/10.1007/978-3-031-07265-9_16

image with new and different processes that are difficult for competitors to imitate (Zehir et al. 2015). The advantage of the differentiation strategy, which makes products and services difficult to imitate by competitors, is that it increases the chance for the company to be sustainable (Grant 1991). Although innovation is very important in differentiation strategy, this does not mean that cost-leadership strategy does not also require innovation. To benefit from a cost-leadership strategy, companies need to emphasize minimizing costs and undertaking a process of innovation (Frohwein and Hansjurgens 2005). The innovation process is concerned with all of the company's operational activities by improving the quality of offerings and efficient delivery methods than competitors to achieve a competitive advantage (O'Sullivan and Dooley 2009). In addition, the innovation process also allows companies to achieve economies of scale, reduce costs and gain market share (Qin 2007). Thus, innovation is needed in a cost-leadership strategy to achieve cost reduction, larger market share, and better efficiency than competitors (Hilman and Kaliappen 2014).

The company implements strategies to achieve long-term goals, where these strategies influence long-term financial performance. However, the results of previous studies regarding the choice of strategy and financial performance show mixed results. Banker et al. (2014) found that differentiation strategies have an impact on long-term financial performance as measured by future ROA, each using the next 5 years as a function of the company's current performance. This measure refers to the success or persistence of ROA, that is, the extent to which current ROA can be maintained in future periods. Meanwhile, other research results show a relationship between differentiation strategies and financial performance as measured by ROI, ROE, and other financial measures, such as budget variance analysis, working capital ratio, divisional profit, cash flow return on investment, and shareholder value. added (Asdemir et al. 2013; Spencer et al. 2009; Teeratansirikool et al. 2013; Yamin et al. 1999; Yeung et al. 2006). Several other researchers did not find a relationship between differentiation strategies and sustainable financial performance (Altuntas et al. 2014; Oyewobi et al. 2016; Wong et al. 2016). Inconsistency in research results also occurs in research on cost-leadership strategies. Several researchers have proven that costleadership strategies are related to short-term financial performance (Hilman and Kaliappen 2014; Kaliappen and Hilman 2013; Nandakumar et al. 2010), however, Li and Li 2008; Banker et al. 2014) did not find a relationship between cost leadership strategies and sustainable financial performance.

The results of previous studies are still not solid, one reason is that these studies have not considered the innovation factor. The changing business environment, changing customer needs and expectations, increasing competition, and rapid technological developments make companies need to innovate to stay ahead of competitors (Bhatt et al. 2010; Chen et al. 2009; Uzkurt et al. 2013; Zaefarian et al. 2017). Research on the effect of innovation on company performance shows positive results (Agarwal et al. 2003; Han et al. 1998). This shows that innovation is an important factor for company growth and sustainability (Han et al. 1998; Kiron et al. 2013). This study adds innovation as a moderating variable for the relationship between differentiation strategies and cost leadership and sustainable financial performance.

Innovation is one of the main sources of achieving competitive advantage (Díaz-Díaz and Saá-Pérez 2014), and is a transformative force that improves the sustainability and economic performance of companies (Cavaleri and Shabana 2018). Innovation is needed by companies in facing the increasing pressure of globalization, changing customer expectations, increasing competition, and rapid technological developments in a changing business environment. Innovation is an important driver of competitiveness and company success in a changing business environment (Chen et al. 2009; Uzkurt et al. 2013; Zaefarian et al. 2017).

2 Literature Review

2.1 Strategy and Innovation

The differentiation strategy is a strategy that involves the addition of a significant aspect from a product and service that are superior, hard to imitate, unique, and of higher quality than the competitors, thus, the resulting additional value can be felt by the customers and creates a competitive advantage (Banker et al. 2014; Green et al. 1993; Porter 1980, 1997; Prajogo 2007). Moreover, the advantage of the differentiation strategy is that customers will be able to customize the product, which depends on the company's rapport with its customers (Banker et al. 2014). An exclusive relationship between a company and its customers becomes a competitive advantage that is hard for competitors to imitate, which enables the company to have a sustainable competitive advantage (Banker et al. 2014; Barney 1986; Ghemawat 1995). Innovations have a central role in the companies that use the differentiation strategy to compete with their competitors (Herzallah et al. 2017). Innovations have to be done continuously to leave no chance for the competitors to imitate the products (Amoako-Gyampah and Acquaah 2008; Asdemir et al. 2013; Banker et al. 2014; Zehir et al. 2015). When a company innovates, its competitors will need time to match the products and services provided by the company because the competitors need to do the research and development phase first. At the time the competitors do their research, the company has already made another innovation (Asdemir et al. 2013). A company's innovation will be reflected in the appearance and technology of high quality and innovative product with a high design or brand image (Banker et al. 2014; Crema et al. 2014; Frambach et al. 2003; Hutchinson et al. 2007; Porter 1980). Because of this, the companies set a high price (Banker et al. 2014; Crema et al. 2014; Frambach et al. 2003; Hutchinson et al. 2007; Porter 1980). The customers of the differentiation strategy are not sensitive to price as long as they receive the value of the product or service. This is the advantage of the differentiation strategy (Black et al. 2000; Green et al. 1993; Prajogo 2007; Porter 1997). On the other hand, the differentiation strategy needs high initial capital, operational costs, and investments to develop the products and services (Banker et al. 2014).

To identify whether a company uses the differentiator strategy or not, previous studies use the survey method (Amoako-Gyampah and Acquaah 2008; Nandakumar et al. 2010; Parnel and Brady 2019; Parnell et al. 2012). This methodology may cause bias because the respondents are influenced by consistency, social desire, and the lack of knowledge, thus this research does not use it (Podsakoff and Organ 1986; Miller and Roth 1994). Other researchers, such as Selling and Stickney (1989), Banker et al. (2011, 2013), Wu et al. (2015), measures the profit margin, which is the sum of adding operating income with R&D expenditure, divided by sales.

In cost-leadership strategy, operational efficiency becomes the foundation of the achievement of this strategy (Banker et al. 2014; De Castro and Chrisman 1995; Porter 1997). This efficiency is conducted by controlling the production costs, increasing capacity, and minimizing other costs (Banker et al. 2014; Prajogo 2007). Thus, this strategy can strive for an average return above its competitors because it uses lower prices (Prajogo 2007). The low cost can be used as a company's main advantage to compete with its competitors (Banker et al. 2014; Teeratansirikool et al. 2013) and will have a positive influence on the company's financial performance (Herzallah et al. 2017).

Companies that apply the cost-leadership strategy also need to innovate to be superior in the competition (Frohwein and Hansjurgens 2005; Seaden and Manseau 2001). Innovation in the cost-leadership strategy can be cone through the application and development of new technology and procedure because it can significantly improve the company's structure and cost efficiency (Francesco, 2014; Seaden and Manseau 2001). Innovation can also safe companies from unhealthy competition from the cost-relationship strategy: the application of a very low price that is irrational and disturbing the company's financial performance (Gunday et al. 2011; Hilman and Kaliappen 2014; Hilmi et al. 2010; Nandakumar et al. 2011; Parnell 2011).

To measure the cost-leadership strategy, Selling and Stickney (1989), Banker et al., (2011, 2013), Wu et al. (2015) use ATO (Asset Turnover) as a measurement tool. However, this research uses three types of ratio used by Asdemir et al., (2013), Balsam et al., (2011), Banker et al., (2014). These three ratios can detect a company's efficiency in its capital utilization (David et al. 2002) because the customers of costleadership strategy buy a company's products that are cheaper than its competitors and the company's profits are gained through minimizing costs and assets per unit output (Hambrick 1983b). The first ratio is SALES/CAPEX (Formula 3)-the net sales that are measured with the company's capital expenditure used to buy properties, plants, or equipment. The high value of this ratio shows that the company applies the cost-leadership strategy (Banker et al. 2014). The second ratio is SALES/P&E (Formula 4), which is a ratio between net sales and the net book value of plant and equipment. A higher value shows more efficient use of the company's assets, which shows that the company uses the cost-leadership strategy (Berman et al. 1999; Hambrick 1983a, b; Kotha and Nair 1995; Miller and Dess 1993). The last ratio used by the researcher in this cost-leadership strategy is EMPL/ASSETS (Formula 5), which is the ratio between the number of employees and total assets (Hambrick 1983a, b; Kotha and Nair 1995; Nair and Filer 2002). A higher value of this ratio shows the company uses the cost-leadership strategy (Banker et al. 2014).

2.2 Sustainable Financial Perfromance

Financial performance is the company's financial condition during certain periods that includes modal adequacy, liquidity, solvability, efficiency, leverage, and profitability. Financial performance shows a company's capability in managing and controlling its resources (Fatihudin et al. 2018). To support a company's sustainability, good financial performance in not only the short-term but also the long term is expected. Companies can achieve a sustainable financial performance if they use resources that can encourage the creation of value in the companies' operational in the present and future (Banker et al. 2014). If the companies create future values by using present resources, they can also create a sustainable competitive advantage. With this, companies can have a financial performance that can survive in the long-term (Mohammadi et al. 2019).

In measuring sustainable financial performance, Banker et al., (2014) use future ROA, and Juniarti (2020) uses earning persistence. From the previous studies' measurements, this research will use Earnings Persistence (EP) as a measurement tool to show sustainable earning (Francis et al. 2004; Penman and Zhang 2002). Earning Persistence is a time-series parameter to measure the size of the influence of earnings obtained repeatedly without a loss that the company expects in the future (Aguguom et al. 2019; Pimentel and Aguiar 2016). A high earning persistence shows a strong and sustainable earning, while low earning persistence shows weak, temporary, or unsustainable earning (Ashley and Yang 2004; Francis et al. 2004; Juniarti 2020). This Earning Persistence follows Francis et al., (2004) measurement that uses the autoregressive model of order one (AR1) by observing the earnings in the past 5 years:

$$X_{j,t} = f_{0,j} + f_{1,j}X_{j,t-1} + v_{j,t}$$

Notes:

- $X_{j,t}$ A company's net earnings before the extraordinary items in year t is divided by the weighted average of shares outstanding in year t.
- $\phi_{1,j}$ Earning persistence as the estimated slope coefficient. Approaching 1 implies very persistent earnings, approaching 0 implies huge temporary earnings.
- $v_{j,t}$ J company's specific residue in year t.

2.3 A Subsection Sample

A differentiation strategy involves offering products and services that are different from competitors, that is, offering unique and quality products and services by investing in various activities such as advertising, promotion, customer service, product distribution, and other related activities (Banker et al. 2014; De Castro and Chrisman 1995; Jermias 2008; Liu and Atuahene-Gima 2018; Prajogo 2007).

This makes the company more effective than its competitors, creates higher value for customers, and achieves higher performance and profits (Awwad et al. 2013; Hosseini and Sheikhi 2012; Leonidou et al. 2015; Mathenge 2013; Murray et al. 2011; Tan and Sousa 2015; Yao and Qin 2016). Grant (1991) argues that with this uniqueness, the benefits obtained from a differentiation strategy are more sustainable because the products and services offered by the company are not easily imitated by competitors. Differentiation strategies usually also involve innovation in certain products and adjustments to marketing campaigns that are impossible to imitate quickly (Asdemir et al. 2013). The longer it takes a competitor to respond to a certain comparative advantage, the greater the opportunity for the company to take advantage of a sustainable advantage (Banker et al. 2014). Companies that can withstand the efforts of competitors in imitating their products and services can maintain their competitive advantage, thus enabling the company to have superior performance in the long term (Ghemawat 1995).

On the other hand, the cost-leadership strategy emphasizes operational efficiency through the development of new processes and technologies, economies of scale, and experience (Banker et al. 2014). Kim et al. 2004 argued that companies that implement a cost-leadership strategy are easily trapped into continuously reducing prices because technology tends to be based on a cost structure with low variable costs and high fixed costs. This gives rise to a competitive advantage that is only temporary and makes it impossible to achieve long-term financial performance (Eisenhardt and Martin 2000; Kim et al. 2004), because operational efficiency can be imitated by competitors or cannot be operated due to the emergence of new sources and better (D'Aveni 1994; Hamel 2000). Murray (2011) also argues that imitation by competitors cannot be avoided if the company uses a cost-leadership strategy. Another argument suggests that companies that focus solely on cost-leadership strategies are no longer suitable to meet the different needs and demands of customers in the era of globalization (Baines and Langfield-Smith 2003; Kotha and Vadlamani 1995; Perera et al. 1997).

From the results discussed above, the following hypothesis is formulated in this study.

H1a: The differentiation strategy influences sustainable financial performance.

H1b: The cost-leadership strategy influences sustainable financial performance.

Innovation generally has a positive relationship to performance and is important for companies to maintain their survival (Brown and Eisenhardt 1995; Covin and Miles 1999; Christensen and Bower 1996; Clark and Fujimoto 1991; Han et al. 1998; Hamel and Prahalad 1994; O'Reilly and Tushman 2004; Peters 1990, 1991; Teece et al. 1997; Turulja and Bajgoric 2019; Zahra and Covin 1995). Innovation needs to be done so that companies can explore opportunities and markets as a source of excellence, especially in today's business environment where the business is very complex and changing (Chen et al. 2009; Duane Ireland and Webb 2007; Madhavan and Grover 1998; Miller and Friesen 1983; Montes et al. 2004; Turulja and Bajgoric 2019; Urbancova 2013; Uzkurt et al. 2013; Zaefarian et al. 2017). Therefore, new products and services, new processes, and new ways of organizing work in the company are very important for future success, given that novelty is one of the attractions of the company (Duane Ireland and Webb 2007; Racela and Thoumrungroje 2019). Companies that are still able to survive and innovate in the future can create advantages in terms of competition, are efficient in their operational activities, and can run their business even though they are in an environment with limited resources (Porter 1990; Simpson et al. 2006; Ren et al. 2010). From this innovation activity, companies have the opportunity to get profits, sales revenue, return on investment, and high market share (Saliba de Oliveira et al. 2018; Turulja and Bajgoric 2019). If innovation is carried out continuously, the company can maintain a competitive advantage and have long-term financial performance (Agarwal et al. 2003; Cavalry and Shabana 2018; Duane Ireland and Webb 2007; Han et al. 1998; Hull and Rothenberg 2008; Madhavan and Grover 1998; Miller and Friesen 1983; Montes et al. 2004; Porter 1990; Simpson et al. 2006; Racela and Thoumrungroje 2019; Ren, 2009; Turulja and Bajgoric 2019).

From the results discussed above, the following hypothesis is formulated in this study.

H2: Innovation has a positive influence on sustainable financial performance.

The ability of a company to innovate is also one of the factors that characterize its sustainability and growth potential (O'Reilly et al. 1991). Therefore, innovation is an important thing to implement in strategy, both differentiation and costleadership (Cavaleri and Shabana 2018). Companies with a differentiation strategy tend to develop many R and D activities to increase their innovative strength and increase the company's ability to compete with innovations made by competitors (Miller 1987). This company needs innovation based on features that are difficult for competitors to imitate (Amoako-Gyampah and Acquaah 2008). Innovation by companies is important for differentiation strategies and also for achieving higher performance (Hull and Rothenberg 2008; Miller 1983; Porter 1990). In addition to a differentiation strategy, a cost-leadership strategy also requires innovation to be competitive even though this strategy focuses on efficiency and low costs. Companies must emphasize cost minimization and engage with process innovation to gain the advantage of this strategy (Frohwein and Hansjurgens 2005). The aim of implementing innovation in a cost-leadership strategy is to achieve cost reduction, larger market share, and better efficiency than competitors that drive corporate sustainability (Hilman and Kaliappen 2014). Thus, innovation is important to be applied to each strategy, because companies that do not innovate will find it difficult to sustain even though the company has implemented the right strategy (Cavaleri and Shabana 2018; Najafi-Tavani et al. 2018; Prajogo 2016).

From the results discussed above, the following hypothesis is formulated in this study.

H3a: Innovation moderates the relationship between differentiation strategy and sustainable financial performance.

H3b: Innovation moderates the relationship between cost-leadership strategy and sustainable financial performance.

3 Research Method

3.1 Sample

This research uses secondary data from the companies' annual financial report in 2015–2019 from Bloomberg. The population of this research is 5.169 go-public companies in South East Asia from all sectors. The researcher did a reselection to the population to obtain the selected samples when the companies have complete financial report data during the research period. The sample criteria of this research are:

- 1. Companies listed in the Stock Exchange of each country in South East Asia in 2015–2019.
- 2. Have their earnings data from 2010–2019. This data is required to measure earnings persistence, which is an indicator of sustainable financial performance.
- 3. Companies that have R&D data from 2015–2019.

The definition of this research's operational variables can be seen in the Table 1.

3.2 Model Analysis

To evaluate the hypothesis of this research, the analysis model used is as follows:

$$\begin{split} EP &= \beta_0 + \beta_1 STRDIF_{i,t-1} + \beta_2 STRCL_{i,t-1} + \beta_3 INV_{i,t-1} + \beta_4 INV * STRDIF_{i,t-1} \\ &+ \beta_5 INV * STRCL_{i,t-1} + \beta_6 SIZE_{i,t-1} + \beta_7 LEV_{i,t-1} \\ &+ \beta_8 CI_{i,t-1} + \beta_9 MS_{i,t-1} + \beta_{10} AGE_{i,t-1} + \varepsilon_i, t \end{split}$$

Notes:

$EP_{i,t-1}$	<i>i</i> company's earning persistence in t period.
STRDIF _{i,t-1}	<i>i</i> company's differentiation strategy in $t - 1$ period.
$STRCL_{i,t-1}$	<i>i</i> company's cost-leadership strategy in $t - 1$ period.
$INV_{i,t-1}$	<i>i</i> company's innovation in $t - 1$ period.
INV*STRDIF _{i,t-1}	Innovation moderates <i>i</i> company's differentiation strategy in
	t - 1 period.
$INV*STRCL_{i,t-1}$	Innovation moderates <i>i</i> company's cost-leadership strategy in
	t - 1 period.
$SIZE_{i,t-1}$	t - 1. <i>i</i> company's size in $t - 1$ period.
$LEV_{i,t-1}$	<i>i</i> company's leverage in $t - 1$ period.
$CI_{i,t-1}$	<i>i</i> company's competition intensity in $t - 1$ period.
$MS_{i,t-1}$	<i>i</i> company's market share in $t - 1$ period.
$AGE_{i,t-1}$	<i>i</i> company's age strategy in $t - 1$ period.
$\varepsilon_{i,t}$	<i>i</i> company's error in t period.

Variable	Operational definition	Scale
Differentiation strategy	This variable is measured with two measurement tools: SG&A/SALES (Formula 1) and SALES/COGS (Formula 2). The high result of these two formulas shows that the companies are focusing on the differentiation strategy (Banker et al 2014; Kotha and Nair 1995; Nair and Filer 2002)	Ratio
Cost-leadership strategy	This variable is measured with three measurement tools: SALES/CAPEX (Formula 3), SALES/P&E (Formula 4), and EMPL/ASSETS (Formula 5). The high result of these three ratios shows that the companies are using the cost-leadership strategy (Banker et al 2014; Berman et al. 1999; Hambrick 1983a, b; Kotha and Nair 1995; Miller and Dess 1993)	Ratio
Earning persistence	Measured with earning persistence by using the autoregressive model of order one (AR1). If $X_{j,t}$ approaches 1, then the earning is very persistent. If $X_{j,t}$ approaches 0, it implies a huge temporary earning (Francis et al. 2004)	Ratio
Innovation	Measured with the R&D expenditures on total sales ratio (R&D/SALES) (Ameer and Othman 2012; Alshwer and Levitas 2014)	Ratio
Firm size	<i>Firm size</i> is measured with <i>i</i> company's log total asset in year t (Jermias 2008)	Ratio
Leverage	The use of debt is measured by dividing total debt by the total asset (Dimitrov and Jain 2008; Mercer 2004)	Ratio
Competition intensity	The competition intensity between companies is measured by using the Herfindahl Index (HHI) (Formula 6). The lower index value shows a higher competition intensity (Li et al. 2008; Naldi and Flamini 2018)	Ratio
Market share	Measured by dividing the company's total sales with the industry's total sales (Edeling and Himme 2018). A higher value shows a higher market share (Connolly et al. 1986; Li and Li 2008)	Ratio
Firm age	<i>Firm age</i> is measured with the log of a company's age from its foundation until the research year (Hariyanto and Juniarti 2014)	Ratio

 Table 1
 Operational variable definition

Source Authors' own research

3.3 Data Analysis and Technique

The data analysis technique for the panel data regression model is conducted by choosing the best model out of the following: Pooled Least Squared (PLS), Fixed Effect Model, and Random Effect Model. To choose the best panel data model, several tests are conducted: the Chow Test, Hausman Test, and Lagrange Multiplier Test.

Based on the sample selection, the final number of this research's sample is 50 companies, where there is a total of 250 firm-years that are go-public companies in the South East Asia region (Table 2).

The sample includes all sectors and countries in South East Asia. The sample profile covers all sectors and 5 countries in South East Asia: Indonesia, Malaysia, Singapore, Philippines, and Thailand. 5 other South East Asian countries are not listed in the country-based sample profile because the data do not fulfill the sample criteria. As can be seen, the most dominant samples are in the industrial sector, 12 samples. While the least number of sample is in the electronic components and telecommunications and media sectors, with only 1 sample each. For country-based sample profile, Malaysia has the biggest number of samples with 20, and Thailand has the smallest number of the sample with 1. Thailand is not representative in this research sample (Table 2).

The average of EP does not approach 1, which means that the researched companies' earning persistence is not too persistent. STRDIF1 also has a value far below 1, which means the companies are also not reflecting the implementation of the

	A: based on sectors	G 1	
No.	Sectors	Sample	(%)
1.	Consumer discretionary, products and services, staples	7	1400
2.	Electronic components	1	200
3.	Health care	3	600
4.	Holding firms	2	400
5.	Industrial	12	2400
6.	Plantation	4	800
7.	Property, real estate, construction	2	400
8.	Services	6	1200
9.	Technology	10	2000
10.	Telecommunications and media	1	200
11.	Utilities	2	400
	Total	50	10,000
Panel I	B: based on nations		
No.	Nation	Sample	(%)
1.	Indonesia	9	1800
2.	Malaysia	20	4000
3.	Singapura	12	2400
4.	Filipina	8	1600
5.	Thailand	1	200
	Total	50	10,000

Table 2Sample profile

Source Authors' own research

differentiation strategy when they are measured with formula 1. On the other hand, the average of STRDIF2 has a value above 1, companies with the differentiation strategy that uses the formula 2 have a higher sales average than the cost of goods sold and very much reflect companies with differentiation strategy if measured with formula 2. STRCL 1 has a value far below 1, which means that the companies are not reflecting the use of the cost-leadership strategy if measured with formula 3. STRCL2 has a value far above 1, which means the companies' strategy very much reflects the implementation of the cost-leadership program if measured with formula 4. INV only has a value of 0.04, which means that innovation does not really influence sustainable financial performance.

The average value of SIZE is far above 1, which is 12.68, with a value on the financial report of 35.144.023.277.527. This means that the total asset owned and borrowed by the company is huge. LEV has a value less than 1, 0.18, which means that the companies have a high debt risk. The CI value is only 0.02, far below 1, which means that the companies are not capable enough of facing tight competition. This can hinder the companies in achieving sustainability. MS has a value far below 1, this means that the companies have a small market share and thus do not have a high rate of return. AGE has an average value far above 1, this means that the companies are quite old and have more experience.

The majority of the processed data has a data variation with normal distributions such as EP, STRDIF1, STRDIF2, INV, SIZE, LEV, CI, MS, AGE as can be seen from the low standard deviation, it means that the data do not really represent the distribution inside of a group (Table 3).

		Minimum	Maximum	Mean	Std. deviation
EP	250	-2.795	2.614	0.307	0.659
STRDIF1	206	0.000	1.865	0.251	0.290
STRDIF2	200	1.027	3.146	1.532	0.426
STRCL1	250	-420.9	349.562	-19.72	55.94
STRCL2	250	0.120	1202.645	9.989	76.268
INV	250	0.000	0.936	0.049	0.141
SIZE	250	10.861	14.782	12.683	0.947
LEV	208	0.000	0.895	0.180	0.155
CI	250	0.000	0.121	0.020	0.033
MS	245	0.000	0.304	0.036	0.057
AGE	250	0.845	2.267	1.53	0.291
Valid N (listwise)	160				

 Table 3
 Descriptive statistic

Source Authors' own research

4 Results and Discussion

To determine the best panel data model, the researcher uses the Chow Test. The Chow Test is used to choose the best model between Pooled Least Square (PLS) and Fixed Effect. If *p*-value < α , which is 0.05, then the Fixed Effect model is chosen. Otherwise, if *p*-value > 0.05, the chosen model is PLS. Below are the results of the PLS Test using the GRETL application.

This research is conducted by testing each strategy using the described formulas. Table 4 shows the measurement result from SG&A/SALES with 50 companies tested. Based on the Chow Test result above, it is found that *p*-value > 0.05, thus, the best model for the differentiation strategy with formulas 1 and 2 (SG&A/SALES) and (COGS/SALES) is PLS. The hypothesis test result shows that STRDIF1 has a significant and negative regression coefficient: -3.97610 with a *p*-value of 0.0042. Table 5 shows the measurement result of formula 2. The measurement result shows that STRDIF2 has a significant and positive regression coefficient: 0.797698 with a *p*-value of 0.0293. Thus, these two tables prove that H1a is accepted if measured with formula 2. This means that the differentiation strategy influences long term financial performances and can improve the company's future performance (Tables 6 and 7).

The INV variable on STRDIF1 has a significant and negative regression coefficient of -26.4037 with a *p*-value of 0.0510, which means that innovation negatively influences sustainable financial performance when it is tested with formula 1. Meanwhile, the result on STRDIF2 shows a non-significant and negative regression coefficient of -1280.16 with a *p*-value of 0.1140, which shows that innovation does not influence sustainable financial performance if measured with formula 2. These results show that innovation itself without connected with the strategy seem meaningless. However, when we moderate the INV with the STRDIF1 and STRDIF2, it proves that innovation strengthen the benefit of differentiation strategy and resulting a higher sustainable financial performance. The evidence that innovation moderate the relationship of differentiation strategy and sustainable financial performance is

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
Const	-5.41438	4.56222	-1.187	0.2425	
STRDIF1	-3.97610	1.30722	-3.042	0.0042	***
INV	-26.4037	13.1109	-2.014	0.0510	*
STRDIF1*INV	136.411	62.1401	2.195	0.0342	**
SIZE	0.598571	0.444177	1.348	0.1856	
LEV	-1.34600	1.40871	-0.9555	0.3452	
CI	-5.97169	2.85929	-2.089	0.0433	**
MS	1.58130	1.66855	0.9477	0.3491	
AGE	-0.238747	0.704850	-0.3387	0.7366	

Table 4 STRDIF1 PLS test result

Source Authors' own research

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
Const	-12.5081	7.89412	-1.584	0.1236	
STRDIF1	-0.172589	3.65090	-0.04727	0.9626	
INV	326.604	267.083	1.223	0.2309	
STRDIF1*INV	-1280.16	786.347	-1.628	0.1140	
SIZE	0.919340	0.717797	1.281	0.2101	
LEV	0.629352	2.46043	0.2558	0.7999	
CI	25.1878	38.3372	0.6570	0.5162	
MS	-9.73704	15.1695	-0.6419	0.5258	
AGE	0.993111	1.22603	0.8100	0.4243	

 Table 5
 STRDIF1 chow test result

*Joint significance of differing group means: F(9, 30) = 1.46912 with *p*-value 0.2045 Source Authors' own research

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
const	-3.58285	3.95691	-0.9055	0.3722	
STRDIF2	0.797698	0.310111	2.572	0.0151	**
INV	-7.59195	29.6858	-0.2557	0.7998	
STRDIF2*INV	4.60044	13.1062	0.3510	0.7280	
SIZE	0.0859230	0.389690	0.2205	0.8269	
LEV	3.08429	1.23056	2.506	0.0177	**
CI	2.37017	2.87081	0.8256	0.4153	
MS	2.53418	1.65797	1.528	0.1365	
AGE	0.363957	0.720138	0.5054	0.6169	

Table 6 STRDIF2 PLS test result

Source Authors' own research

Table 7 STRDIF2 chow test result
--

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
const	19.2697	13.3960	1.438	0.1646	
STRDIF2	2.69770	1.15729	2.331	0.0293	**
INV	263.976	406.723	0.6490	0.5230	
STRDIF2*INV	-73.8851	232.312	-0.3180	0.7535	
SIZE	-1.91412	1.19628	-1.600	0.1238	
LEV	4.40121	1.61446	2.726	0.0123	**
CI	-85.1690	59.2065	-1.439	0.1644	
MS	41.2871	25.3232	1.630	0.1173	
AGE	-1.24347	1.77103	-0.7021	0.4900	

*Joint significance of differing group means: F(9, 22) = 1.25677 with *p*-value 0.3133 Source Authors' own research

as shown by the regression coefficient of STRDIF1*INV is significant and positive, with a value of 136.411 and a *p*-value of 0.0342, while the regression coefficient of STRDIF2*INV is positive but non-significant, with a value of 4.60044 and *p*-value of 0.7280. Thus, H3a is accepted. This shows that differentiation strategy needs innovations because it can strengthen the achievement of sustainable financial performance (Hull and Rothenberg 2008; Miller 1983; Porter 1990). This finding is also supported by some previous studies that uncovered that differentiation strategy need to develop many R&D activities to increase their innovative strength and increase the company's ability to compete with innovations made by competitors (Miller 1987). The company needs to innovate based on features that are difficult for competitors to imitate (Amoako-Gyampah and Acquaah 2008). Therefore, when combining with the innovation, differentiation strategy will useful in achieving the higher sustainable financial performance (Tables 4, 5, 6, 7, 8, 9, 10 and 11).

	Coefficient	Std. Error	t-ratio	<i>p</i> -value	
Const	-1.23132	1.15607	-1.065	0.2890	
STRCL1	-0.000308102	0.00206222	-0.1494	0.8815	
INV	0.611420	0.635918	0.9615	0.3382	
STRCL1*INV	-0.0293655	0.0479078	-0.6130	0.5411	
SIZE	0.0827240	0.0939622	0.8804	0.3804	
LEV	-1.28816	0.530789	-2.427	0.0167	**
CI	3.89686	2.30913	1.688	0.0941	*
MS	0.659576	1.36591	0.4829	0.6301	
AGE	0.356184	0.204495	1.742	0.0841	*

Table 8 STRCL1 PLS test result

Source Authors' own research

	Coefficient	Std. error	t-ratio	<i>p</i> -value			
const	-3.25731	2.61064	-1.28	0.2148			
STRCL1	0.00271993	0.00356167	0.7637	0.4467			
INV	-36.8278	28.4818	-1.293	0.1987			
STRCL1*INV	-0.687822	1.05588	-0.6514	0.5161			
SIZE	0.230486	0.210682	1.094	0.2763			
LEV	-2.85009	0.828360	-3.441	0.0008	***		
CI	8.88490	4.07908	2.178	0.0315	**		
MS	0.167979	2.24448	0.07484	0.9405			
AGE	0.624490	0.274262	2.277	0.0247	**		

Table 9STRCL1 chow test result

*Joint significance of differing group means: F(9, 111) = 1.85454 with *p*-value 0.0663 *Source* Authors' own research

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
const	-5.65756	2.76051	-2.049	0.0538	*
STRCL2	0.00458241	0.00848773	0.5399	0.5952	
INV	2.03612	1.03788	1.962	0.0639	*
STRCL2*INV	0.00280943	0.0230811	0.1217	0.9043	
SIZE	0.136524	0.191026	0.7147	0.4831	
LEV	-0.400180	0.658087	-0.6081	0.5500	
CI	7.57690	9.45979	0.8010	0.4326	
MS	3.71669	3.78343	0.9824	0.3377	
AGE	2.79133	0.770914	3.621	0.0017	***

Table 10STRCL2 PLS test result

Source Authors' own research

	Coefficient	Std. error	t-ratio	<i>p</i> -value	
const	4.17939	6.06654	0.6889	0.5051	
STRCL2	0.0134524	0.0089084	1.498	0.1623	
INV	1.33685	0.93763	1.426	0.1816	
STRCL2*INV	-0.00731214	0.0206885	-0.3534	0.7304	
SIZE	-0.137676	0.498398	-0.2762	0.7875	
LEV	-0.764551	0.579221	-1.320	0.2137	
CI	17.9434	24.6456	0.7281	0.4818	
MS	27.3204	10.6480	2.566	0.0262	**
AGE	-2.92422	2.29266	-1.275	0.2284	

Table 11 STRCL2 test result

*Joint significance of differing group means: F(9, 11) = 2.01413 with *p*-value 0.1362 Source Authors' own research

Based on the Chow Test above (Tables 8, 9), it is known that *p*-value > 0.05, thus the best model for the cost-leadership strategy with formula 1 (SALES/CAPEX) is the PLS model. This PLS model also applies to the cost-leadership strategy with formula 2 (SALES/P&E) that also has a *p*-value > 0.05 (Tables 10, 11). From the hypothesis test using the PLS test, STRCL1 has a negative and non-significant regression coefficient of 0.00458241 with a *p*-value of 0.5952, thus **H1b is rejected**. The INV variable on STRCL2 is positive and significant, with a value of 2.03162 with a *p*-value of 0.0639. This proves that innovation influences sustainable financial performance, but it is not absolute, thus **H2 is accepted**. Following the H2 result of this research, innovation can still be a point of consideration for companies to achieve long-term financial performance because by innovating companies can obtain profits, sales income, the return of investment, and high market share (Saliba de Oliveira et al. 2018; Turulja and Bajgoric 2019). STRCL1INV has a negative and non-significant regression coefficient of -0.687822 with a *p*-value of 0.5161. STRCL2INV has a positive and non-significant regression coefficient of 0.00280943 and a *p*-value of 0.9043, which means **H3b is rejected**. The cost-leadership strategy with measurement 3, EMPL/ASSETS, is not included in the descriptive statistics and is not used to determine the best panel data model in the hypothesis test because there is no sufficient data.

In achieving competitive advantage, companies need to apply an appropriate strategy (Asdemir et al., 2019). The most commonly used strategies are the ones introduced by Porter (1980), differentiation strategy, and cost-leadership strategy. Differentiation strategy prioritizes innovation, as can be seen from the uniqueness and quality of a product to obtain a long-term superior performance (De Castro and Chrisman 1995; Frambach et al. 2003; Ghemawat 1995; Hutchinson et al. 2007; Jermias 2008; Porter 1980; Prajogo 2007). The more unique a product compared to the competitors, the more superior the company from its competitors. In the cost-leadership strategy, innovation is needed to reduce costs to get ahead of the competitors (Frohwein and Hansjurgens, 2005). By innovating, the reduction of costs, a higher market share, and efficiency can be achieved. Thus, the companies that implement this strategy can be sustainable (Hilman and Kaliappen 2014).

The control variable of this research shows diverse influences, SIZE and MS do not influence sustainable financial performance on both differentiation strategy and costleadership strategy in all measurements. The AGE variable has a relationship with a long-term financial performance involving how the long-standing companies are more trusted for the investor, have more experience, and a more skilled workforce, thus it can be assumed that long-standing companies will receive higher earnings than the newly built ones (Hariyanto and JUniarti 2014; Mehmood et al., 2019). The leverages with negative influence have higher risks and cannot sustain their long-term performance (McGuire et al. 1988; Waddock and Graves 1997). The CI variable shows a negative and significant regression coefficient value on STRDIF1 of -5.97169 and a *p*-value of 0.0433. The direction of the regression coefficient that is positive but non-significant is shown on STRDIF2 and STRCL2, of which each has the value of 2.37017 with p-value 0.4153 and 7.57690 with a p-value of 0.4326 respectively. Meanwhile, on STRCL1, the CI variable shows a regression coefficient direction that is positive and significant, with a value of 3.89686 and a *p*-value of 0.0941. This signifies that competition intensity influences sustainable financial performance only on STRCL1.

5 Conclusion

In this research, the differentiation strategy is found to significantly influence sustainable financial performance on STRDIF2 (H1a is accepted), and cost leadership does not significantly influence sustainable financial performance (H1b is rejected). Innovation is found to have a not so solid influence on sustainable financial performance because it is only proven in the STRCL2 test (H2 is accepted). It means that innovation can still influence a company's future success. Aside from that, innovation also moderates the relationship between differentiation and sustainable financial performance (H3a is accepted) but does not moderate the relationship between costleadership and sustainable financial performance (H3b is rejected). This research result contradicts the research of Altuntas et al., (2014) and Wong et al., (2016) who find that differentiation strategy does not have a significant influence, and Li and Li (2008) do not find any influence. This research is also different from the research of Banker et al., (2014) who find that the differentiation strategy and cost-leadership strategy has a positive influence on performance, but is in line with the context that differentiation strategy is more sustainable than the cost-leadership strategy.

The implication of this research on managers is that the managers need to utilize scarce resources to make it hard for competitors to imitate and to be able to survive in the long-term. Managers can utilize common resources and create a good financial performance, but it will only last in a short term. Furthermore, it is also important for the managers to keep innovating to be able to compete in a dynamic environment and the ever-growing pace of technology development. However, this differentiation strategy is quite risky because it needs huge costs to obtain scarce resources and innovate. Because of that, managers need to be careful in implementing the best and the most suitable strategy for the company.

This research is limited to the samples of go-public companies that are listed on South East Asia's stock exchange. The amount of sample is low because there is a limited number of companies that have 5 consecutive years of R&D data and 10 consecutive years of EPS data. Aside from that, innovation is not an absolute on either differentiation or cost-leadership strategy. The strategy measurement in this research also shows diverse and inconsistent results. Thus, this opportunity can be taken by the next researcher to find the most suitable measurements to calculate the strategies. The research can also use other measurements that can give a more absolute result. The next studies are expected to broaden the research samples to improve the validity of sustainable financial performance measurement. Different moderator variables can also be used to identify the relationship between the strategy and sustainable financial performance.

References

- Agarwal, S., Erramilli, M. K., Dev, C. S.: Market orientation and performance in service firms: role of innovation. J.Serv. Market. 17(1), 68–82 (2003). https://doi.org/10.1108/08876040310461282
- Aguguom, A. T., Dada, S. O., Nwaobia, A. N.: Earnings persistence and firm performance: implications of analysts' accurate forecast ability from the emerging market of nigeria. Int. J. Acc. Res. 07 (2019). https://doi.org/10.35248/2472-114X.19.7.197
- Alshwer, A.A., Levitas, E.: How innovation can affect ownership structure: the case of transient and dedicated institutional investors. Financ. Strateg. **31**, 291–319 (2014). https://doi.org/10. 1108/S0742-332220140000031008
- Altuntas, G., Semerciöz, F., Mert, A., Pehlivan, Ç.: Industry forces, competitive and functional strategies and organizational performance: evidence from restaurants in Istanbul, Turkey. Proc. Soc. Behav. Sci. 150, 300–309 (2014). https://doi.org/10.1016/j.sbspro.2014.09.066

- Ameer, R., Othman, R.: Sustainability practices and corporate financial performance: a study based on the top global corporations. J. Bus. Ethics 108, 61–79 (2012). https://doi.org/10.1007/s10551-011-1063-y
- Amoako-Gyampah, K., Acquaah, M.: Manufacturing strategy, competitive strategy and firm performance: an empirical study in a developing economy environment. Int. J. Prod. Econ. 111, 575–592 (2008). https://doi.org/10.1016/j.ijpe.2007.02.030
- Asdemir, O., Fernando, G.D., Tripathy, A.: Market perception of firm strategy. Manag. Financ. **39**(2), 90–115 (2013). https://doi.org/10.1108/03074351311293972
- Ashley, A. S., Yang, S. S.: Executive compensation and earnings persistence. J. Bus. Ethics **50**(4), 369–382 (2004). Retrieved from https://www.jstor.org/stable/25075203
- Awwad, A. S., Al Khattab, A. A., Anchor, J.: Competitive priorities and competitive advantage in Jordanian manufacturing. J. Serv. Sci. Manag. 6(1), 69–79. https://doi.org/10.4236/jssm.2013. 61008
- Baines, A., Langfield-Smith, K.: Antecedents to management accounting change: a structural equation approach. Acc. Organ. Soc. 28(7–8), 675–698 (2003). https://doi.org/10.1016/S0361-368 2(02)00102-2
- Balsam, S., Fernando, G. D., Tripathy, A.: The impact of firm strategy on performance measures used in executive compensation. J. Bus. Res. 64(2), 187–193 (2011). https://doi.org/10.1016/j. jbusres.2010.01.006
- Banker, R. D., Flasher, R., Zhang, D.: Strategic positioning and asymmetric cost behavior. In: AAA 2014 Management Accounting Section (MAS) (2013). https://doi.org/10.2139/ssrn.2312852
- Banker, R. D., Hu, N., Pavlou, P. A., Luftman, J.: CIO reporting structure, strategic positioning, and firm performance. MIS Q. 35(2), 487–504 (2011). https://doi.org/10.2307/23044053
- Banker, R.D., Mashruwala, R., Tripathy, A.: Does a differentiation strategy lead to more sustainable financial performance than a cost leadership strategy? Manag. Decis. 52(5), 872–896 (2014). https://doi.org/10.1108/MD-05-2013-0282
- Barney, J. B.: Organizational culture: can it be a source of sustained competitive advantage? Acad. Manag. Rev. 11(3), 656–665 (1986). https://doi.org/10.2307/258317
- Berman, S. L., Wicks, A. C., Kotha, S., Jones, T. M.: Does stakeholder orientation matter? The relationship between stakeholder management models and firm financial performance. Acad. Manag. J. 42(5), 488–506 (1999). https://doi.org/10.2307/256972
- Bhatt, G., Emdad, A., Roberts, N., Grover, V.: Building and leveraging information in dynamic environments: the role of IT infrastructure flexibility as enabler of organizational responsiveness and competitive advantage. Inf. Manag. 47(7–8), 341–349 (2010). https://doi.org/10.1016/j.im. 2010.08.001
- Black, E. L., Carnes, T. A., Richardson, V. J.: The market valuation of corporate reputation. Corp. Reputation Rev. 3(1), 31–42 (2000). https://doi.org/10.1057/palgrave.crr.1540097
- Brown, S. L., Eisenhardt, K. M.: Product development: past research, present findings, and future directions. Acad. Manag. Rev. 20(2), 343–378 (1995). https://doi.org/10.2307/258850
- Cavaleri, S., Shabana, K.: Rethinking sustainability strategies. J. Strateg. Manag. **11**(1), 2–17 (2018). https://doi.org/10.1108/JSMA-08-2016-0050
- Chen, J.-S., Tsou, H.T., Huang, A.Y.-H.: Determinants of firm performance: Service delivery innovation: antecedents and impact on firm performance. J. Serv. Res. **12**(1), 36–55 (2009)
- Christensen, C.M., Bower, J.L.: Customer power, strategic investment, and the failure of leading firms. Strateg. Manag. J. **17**(3), 197–218 (1996)
- Clark, K.B., Fujimoto, T.: Product Development Performance: Strategy, Organization, and Management in the World Auto Industry. Harvard Business School Press, Boston (1991)
- Connolly, R. A., Hirsch, B. T., Hirschey, M.: Union rent seeking, intangible capital, and market value of the firm. Rev. Econ. Stat. **68**(4), 567–577 (1986). https://doi.org/10.2307/1924515
- Covin, J. G., Miles, M. P.: Corporate entrepreneurship and the pursuit of competitive advantage. Entrepreneurship Theory Prac. 23(3), 47–63 (1999). Retrieved from https://doi.org/10.1177% 2F104225879902300304

- Crema, M., Verbano, C., Venturini, K.: Linking strategy with open innovation and performance in SMEs. Meas. Bus. Excel. **18**(2), 14–27 (2014). https://doi.org/10.1108/MBE-07-2013-0042
- D'Aveni, R.A.: Hypercompetition : Managing the Dynamics of Strategic Maneuvering. The Free Press, New York (1994)
- David, J.S., Hwang, Y., Pei, K.-W., Reneau, J.H.: The performance effects of congruence between product competitive strategies and purchasing management design. Manag. Sci. 48(7), 866–886 (2002)
- De Castro, J.O., Chrisman, J.C.: Order of market entry, competitive strategy, and financial performance. J. Bus. Res. **33**, 165–177 (1995)
- Díaz-Díaz, N. L., de Saá Pérez, P.: The interaction between external and internal knowledge sources: An open innovation view. J. Knowl. Manag. **18**(2), 430–446 (2014). https://doi.org/10.1108/JKM-07-2013-0257
- Dimitrov, V., Jain, P. C.: The value-relevance of changes in financial leverage beyond growth in assets and GAAP earnings. J. Acc. Auditing Financ. 23(2), 191–222 (2008). Retrieved from https://doi.org/10.1177/0148558X0802300204
- Duane Ireland, R., Webb, J.W.: Strategic entrepreneurship: Creating competitive advantage through streams of innovation. Bus. Horiz. 50(1), 49–59 (2007). https://doi.org/10.1016/j.bushor.2006. 06.002
- Edeling, A., Himme, A.: When does market share matter? New empirical generalizations from a meta-analysis of the market share-performance relationship. J. Market. (2018)
- Eisenhardt, K. M., Martin, J. A.: Dynamic capabilities: what are they? Strateg. Manag. J. **21**(10–11), 1105–1121 (2000). Retrieved from https://doi.org/10.1002/1097-0266(200010/11)21:10/11%3C1105::AID-SMJ133%3E3.0.CO;2-E
- Fatihudin, D., Jusni, Mochklas, M.: How measuring financial performance. Int. J. Civil Eng. Technol. **9**(6), 553–557 (2018). Retrieved from https://www.researchgate.net/publication/326141100
- Frambach, R. T., Prabhu, J., Verhallen, T. M.: The influence of business strategy on new product activity: the role of market orientation. Int. J. Res. Market. 20(4), 377–397 (2003). https://doi. org/10.1016/j.ijresmar.2003.03.003
- Francis, J., LaFond, R., Olsson, P. M., Schipper, K.: Costs of equity and earnings attributes. Acc. Rev. **79**(4), 967–1010 (2004). https://doi.org/10.2308/accr.2004.79.4.967
- Frohwein, T., Hansjürgens, B.: Chemicals regulation and the Porter hypothesis: a critical review of the new European chemical regulation. J. Bus. Chem. **2**(1), 19–36 (2005)
- Ghemawat, P.: Competitive advantage and internal organization: Nucor revisited. J. Econ. Manag. Strat. **3**(4), 685–717 (1995). https://doi.org/10.1111/j.1430-9134.1995.00685.x
- Grant, R.M.: The resource-based theory of competitive advantage: implications for strategy formulation chemical regulation. Calif. Manage. Rev. 22, 114–135 (1991). https://doi.org/10.2307/411 66664
- Green, R. F., Lisboa, J., Yasin, M. M.: PORTER's (1980) generic strategies in portugal. Eur. Bus. Rev. **93**(2) (1993). https://doi.org/10.1108/EUM000000001911
- Gunday, G., Ulusoy, G., Kilic, K., Alpkan, L.: Effects of innovation types on firm performance. Int. J. Prod. Econ. **133**(2), 662–674 (2011). https://doi.org/10.1016/j.ijpe.2011.05.014
- Hambrick, D. C.: Some test of the effectiveness and functional attributes of Miles and Snow's strategic types. Acad. Manag. J. **26**(1), 5–26 (1983a). https://doi.org/10.2307/256132
- Hambrick, D.C.: High profit strategies in mature capital goods industries: a contingency approach. Acad. Manag. J. **26**(4), 687–707 (1983b). https://doi.org/10.5465/255916
- Hamel, G.: Leading the Revolution. Harvard Business School Press, Boston (2000)
- Hamel, G., Prahalad, C.K.: Competing for the Future. Harvard Business School Press, Boston (1994)
- Han, J. K., Kim, N., Srivastava, R. K.: Market orientation and organizational performance: is innovation a missing link? J. Market. 62(4), 30–45 (1998). https://doi.org/10.2307/1252285
- Hariyanto, L., Juniarti: Pengaruh family control, firm risk, firm size, dan firm age terhadap profitabilitas dan nilai perusahaan pada sektor keuangan. Bus. Acc. Rev. **2**(1), 141–150 (2014)

- Herzallah, A., Gutierrez-Gutierrez, L. J., Rosas, J. F.: Quality ambidexterity, competitive strategies, and financial performance: an empirical study in industrial firms. Int. J. Oper. Prod. Manag. 37(10), 1496–1519 (2017). https://doi.org/10.1108/IJOPM-01-2016-0053
- Hilman, H., Kaliappen, N.: Do cost leadership strategy and process innovation influence the performance of malaysia hotel industry? Asian Soc. Sci. 10(10) (2014). https://doi.org/10.5539/ass.v10 n10p134
- Hilmi, M., Ramayah, T., Mustapha, Y., Pawanchik, S.: Product and process innovations: evidence from Malaysian SMEs. Eur. J. Soc. Sci. 16(4), 556–565 (2010)
- Hosseini, S.M., Sheikhi, N.: An empirical examination of competitive capability's contribution toward firm performance: moderating role of perceived environmental uncertainty. Int. Bus. Res. 5(5), 116–131 (2012). https://doi.org/10.5539/ibr.v5n5p116
- Hull, C.E., Rothenberg, S.: Firm performance: the interactions of corporate social performance with innovation and industry differentiation. Strateg. Manag. J. 29, 781–789 (2008). https://doi.org/ 10.1002/smj.675
- Hutchinson, K., Alexander, N., Quinn, B., Doherty, A.M.: Internationalization motives and facilitating factors: qualitative evidence from smaller specialist retailers. J. Int. Mark. 15(3), 96–122 (2007). https://doi.org/10.1509/jimk.15.3.96
- Jermias, J.: The relative influence of competitive intensity and business strategy on the relationship between financial leverage and performance. Br. Acc. Rev. 40(1), 71–86 (2008). https://doi.org/ 10.1016/j.bar.2007.11.001
- Juniarti.: Does mandatory CSR provide long-term benefits to shareholders? Soc. Responsib. J. (2020). https://doi.org/10.1108/SRJ-03-2019-0114
- Kaliappen, N., Hilman, H.: Enhancing organizational performance through strategic alignment of cost leadership strategy and competitor orientation. Middle-East J. Sci. Res. 18(10), 1411–1416 (2013). https://doi.org/10.5829/idosi.mejsr.2013.18.10.12410
- Kim, E., Nam, D.-I., Stimpert, J.L.: The applicability of Porter's generic strategies in the digital age: assumptions, conjectures, and suggestions. J. Manag. 30(5), 569–589 (2004). https://doi.org/10. 1016/j.jm.2003.12.001
- Kiron, D., Kruschwitz, N., Reeves, M., Goh, E.: The benefits of sustainability-driven innovation. MIT Sloan Manag. Rev. **54**(2), 68–73 (2013). Retrieved from https://sloanreview.mit.edu/wp-content/uploads/2012/12/f0bfde1b37.pdf
- Kotha, S., Nair, A.: Strategy and environment as determinants of performance: evidence from the Japanese machine tool industry. Strateg. Manag. J. **16**(7), 497–518 (1995). https://doi.org/10. 1002/smj.4250160702
- Kotha, S., Vadlamani, B.L.: Assessing generic strategies: an empirical investigation of two competing typologies in discrete manufacturing industries. Strateg. Manag. J. 16, 75–83 (1995). https://doi.org/10.1002/smj.4250160108
- Leonidou, L.C., Fotiadis, T.A., Christodoulides, P., Spyropoulou, S., Katsikeas, C.S.: Environmentally friendly export business strategy: its determinants and effects on competitive advantage and performance. Int. Bus. Rev. 24(5), 798–811 (2015). https://doi.org/10.1016/j.ibusrev.2015. 02.001
- Li, C. B., Li, J. J.: Achieving superior financial performance in China: differentiation, cost leadership, or both? J. Int. Market. 16(3), 1–22 (2008). Retrieved from https://www.jstor.org/stable/27755568
- Li, J.J., Poppo, L., Zhou, K.Z.: Do managerial ties in china always produce value? competition, uncertainty, and domestic vs. foreign firms. Strateg. Manag. J. 29, 383–400 (2008). https://doi. org/10.1002/smj.665
- Liu, W., Atuahene-Gima, K.: Enhancing product innovation performance in a dysfunctional competitive environment: the roles of competitive strategies and market-based assets. Ind. Market. Manag. (2018). https://doi.org/10.1016/j.indmarman.2018.01.006
- Madhavan, R., Grover, R.: From embedded knowledge to embodied knowledge: new product development as knowledge management. J. Mark. 62(4), 1–12 (1998). https://doi.org/10.2307/125 2283

- Mathenge, J.: The effect of innovation on competitive advantage of telecommunication companies in Kenya. Research Project Submitted in Partial Fulfilment of the Requirements for the Degree of Master of Business Administration, University of Nairobi, Kenya (2013)
- McGuire, J.B., Sundgren, A., Schneeweis, T.: Corporate social responsibility and firm financial performance. Acad. Manag. J. **31**(4), 854–872 (1988). https://doi.org/10.2307/256342
- Mercer, M.: How do investors assess the credibility of management disclosures? Acc. Horiz. **18**(3), 185–196 (2004). https://doi.org/10.2308/acch.2004.18.3.185
- Miller, A., Dess, G.G.: Assessing Porter's (1980) model in terms of its generalizability, accuracy and simplicity. J. Manag. Stud. 30(4), 553–585 (1993)
- Miller, D.: The correlates of entrepreneurship in three types of firms. Manag. Sci. 9, 770–791 (1983). https://doi.org/10.1287/mnsc.29.7.770
- Miller, D.: The structural and environmental correlates of business strategy. Strateg. Manag. J. 8(1), 55–76 (1987). Retrieved from https://www.jstor.org/stable/2486146
- Miller, D., Friesen, P.H.: Strategy-making and environment: the third link. Strateg. Manag. J. 4(3), 221–235 (1983). https://doi.org/10.1002/smj.4250040304
- Miller, J. G., Roth, A. V.: A taxonomy of manufacturing strategies. Manag. Sci. **40**(3), 285–304 (1994). Retrieved from https://www.jstor.org/stable/2632800
- Mohammadi, P., Fathi, S., Kazemi, A.: Differentiation and financial performance: a meta-analysis. Compet. Rev. 29(5), 573–591 (2019). https://doi.org/10.1108/CR-10-2018-0067
- Montes, F.J., Moreno, A.R., Fernández, L.M.: Assessing the organizational climate and contractual relationship for perceptions of support for innovation. Int. J. Manpow. 25(2), 167–180 (2004). https://doi.org/10.1108/01437720410535972
- Murray, J. Y., Gao, G. Y., Kotabe, M.: Market orientation and performance of export ventures: the process through marketing capabilities and competitive advantages. J. Acad. Market. Sci. 39(2), 252–269 (2011). https://doi.org/10.1007/s11747-010-0195-4
- Nair, A., Filer, L.: Cointegration of firm strategies within groups: a long-run analysis of firm behavior in the Japanese steel industry. Strateg. Manag. J. 24(2), 145–159 (2002). https://doi.org/10.1002/ smj.286
- Najafi-Tavani, S., Najafi-Tavani, Z., Naudé, P., Oghazi, P., Zeynaloo, E.: How collaborative innovation networks affect new product performance: product innovation capability, process innovation capability, and absorptive capacity. Ind. Market. Manag. (2018). https://doi.org/10.1016/j.indmar man.2018.02.009
- Naldi, M., Flamini, M.: Dynamics of the Hirschman–Herfindahl index under new market entries. Econ. Pap. J. Appl. Econ. Pol. **37**(3), 344–362 (2018). https://doi.org/10.1111/1759-3441.12222
- Nandakumar, M., Ghobadian, A., O'Regan, N.: Generic strategies and performance—evidence from manufacturing firms. Int. J. Product. Perform. Manag. 60(3), 222–251 (2011). https://doi.org/10. 1108/17410401111111970
- Nandakumar, M., Ghobadian, A., O'Regan, N.: Business-level strategy and performance: the moderating effects of environment and structure. Manag. Decis. 48(6), 907–939 (2010). https://doi.org/ 10.1108/00251741011053460
- O'Reilly, C. A., Chatman, J., Caldwell, D. F.: People and organizational culture: a profile comparison approach to assessing person-organization fit. Acad. Manag. J. **34**(3), 487–516 (1991). https:// doi.org/10.2307/256404
- O'Reilly, C.A., Tushman, M.L.: The Ambidextrous Organization. Harvard Bus. Rev. 82(4), 74–81 (2004)
- O'Sullivan, D., Dooley, L.: Applying Innovation. SAGE Publications, Inc. (2009). https://doi.org/ 10.4135/9781452274898
- Oyewobi, L. O., Windapo, A. O., Rotimi, J. O., Jimoh, R. A.: Relationship between competitive strategy and construction organisation performance: the moderating role of organisational characteristics. Manag. Decis. 54(9), 2340–2366 (2016). https://doi.org/10.1108/MD-01-2016-0040

- Parnell, J.A.: Strategic capabilities, competitive strategy, and performance among retailers in Argentina, Peru and the United States. Manag. Decis. 49(1), 139–155 (2011). https://doi.org/ 10.1108/00251741111094482
- Parnell, J. A., Lester, D. L., Long, Z., Köseoglu, M. A.: How environmental uncertainty affects the link between business strategy and performance in SMEs: evidence from China, Turkey, and the USA. Manag. Decis. 50(4), 546–568 (2012). https://doi.org/10.1108/00251741211220129
- Parnell, J., Brady, M.: Capabilities, strategies and firm performance in the United Kingdom. J.Strateg. Manag. **12**(1), 153–172 (2019). https://doi.org/10.1108/JSMA-10-2018-0107
- Penman, S., Zhang, X.-J.: Modeling Sustainable Earnings and P/E Ratios with Financial Statement Analysis. Working Paper, Columbia University, Graduate School of Business (2002)
- Perera, S., Harrison, G., Poole, M.: Customer-focused manufacturing strategy and the use of operations-based non-financial performance measures: a research note. Acc. Organ. Soc. 22(6), 557–572 (1997). https://doi.org/10.1016/S0361-3682(96)00048-7
- Peters, T.: Get innovative or get dead (Part I). Calif. Manag. Rev. 33(1), 9-26 (1990)
- Peters, T.: Get innovative or get dead (Part II). Calif. Manag. Rev. 33(2), 9–23 (1991)
- Pimentel, R. C., Aguiar, A. B.: The role of eearnings persistence in valuation accuracy and the time horizon. Revista de Administração de Empresas 56(1) (2016). https://doi.org/10.1590/S0034-759 020160107
- Podsakoff, P. M., Organ, D. W.: Self-reports in organizational research: problems and prospects. J. Manag. 12(4), 531–544 (1986). https://doi.org/10.1177/01492063860120040
- Porter, M.E.: Competitive Strategy: Techniques for Analyzing Industries and Competitors. The Free Press, New York (1980)
- Porter, M.E.: The Competitive Advantage of Nations: With a New Introduction. The Free Press, New York (1990)
- Porter, M.E.: Competitive strategy. Meas. Bus. Excell. 1(2), 12–17 (1997). https://doi.org/10.1108/ eb025476
- Prajogo, D.I.: The relationship between competitive strategies and product quality. Ind. Manag. Data Syst. 107(1), 69–83 (2007). https://doi.org/10.1108/02635570710719061
- Prajogo, D.I.: The strategic fit between innovation strategies and business environment in delivering business performance. Int. J. Prod. Econ. 171(2), 241–249 (2016). https://doi.org/10.1016/j.ijpe. 2015.07.037
- Qin, Z.: Process innovation, cost leadership and market power analysis based on electronic information industry. In: Research Project of Zhejiang Philosophy and Social Science (2007)
- Racela, O. C., Thoumrungroje, A.: When do customer orientation and innovation capabilities matter? An investigation of contextual impacts. Asia Pac. J. Market. Logist. 32(2), 445–472 (2019). https://doi.org/10.1108/APJML-03-2019-0143
- Ren, L., Xie, G., Krabbendam, K.: Sustainable competitive advantage and marketing innovation within firms: a pragmatic approach for Chinese firms. Manag. Res. Rev. 33(1), 79–89 (2010). https://doi.org/10.1108/01409171011011580
- Saliba de Oliveira, J. A., Basso, L. F., Kimura, H., Sobreiro, V. A.: Innovation and financial performance of companies doing business in Brazil. Int. J. Innov. Stud. 2(4), 153–164 (2018). https:// doi.org/10.1016/j.ijis.2019.03.001
- Seaden, G., Manseau, A.: Public policy and construction innovation. Build. Res. Inf. 29(3), 182–196 (2001). https://doi.org/10.1080/09613210010027701
- Selling, T. I., Stickney, C. P.: The effects of business environment and strategy on a firm's rate of return on assets. Financ. Anal. J. 45(1), 43–52+68 (1989). Retrieved from www.jstor.org/stable/ 4479186
- Simpson, P.M., Siguaw, J.A., Enz, C.A.: Innovation orientation outcomes: the good and the bad performance: evidence from Australia. J. Bus. Res. 59, 1133–1141 (2006). https://doi.org/10. 1016/j.jbusres.2006.08.001
- Spencer, X.S., Joiner, T.A., Salmon, S.: Differentiation strategy, performance measurement systems and organizational performance: evidence from Australia. Int. J. Bus. **14**(1), 83–103 (2009)

- Tan, Q., Sousa, C.M.: Leveraging marketing capabilities into competitive advantage and export performance. Int. Mark. Rev. 32(1), 78–102 (2015). https://doi.org/10.1108/IMR-12-2013-0279
- Teece, D. J., Pisano, G., Shuen, A.: Dynamic capabilities and strategic management. Strateg. Manag. J. **18**(7), 509–533 (1997). Retrieved from https://www.jstor.org/stable/3088148
- Teeratansirikool, L., Siengthai, S., Badir, Y., Charoenngam, C.: Competitive strategies and firm performance: the mediating role of performance measurement. Int. J. Product. Perform. Manag. 62(2), 168–184 (2013). https://doi.org/10.1108/17410401311295722
- Turulja, L., Bajgoric, N.: Innovation, firms' performance and environmental turbulence: is there a moderator or mediator? Eur. J. Innov. Manag. 22(1), 213–232 (2019). https://doi.org/10.1108/ EJIM-03-2018-0064
- Urbancova, H.: Competitive advantage achievement through innovation and knowledge. J. Compet. **5**(1), 82–96 (2013). https://doi.org/10.7441/joc.2013.01.06
- Uzkurt, C., Kumar, R., Kimzan, H.S., Eminoglu, G.: Role of innovation in the relationship between organizational culture and firm performance: a study of the banking sector in Turkey. Eur. J. Innov. Manag. 16(1), 92–117 (2013). https://doi.org/10.1108/14601061311292878
- Waddock, S. A., Graves, S. B.: The corporate social performance-financial performance link. Strateg. Manag. J. 18(4), 303–319 (1997). Retrieved from http://www.jstor.org/stable/3088143
- Wong, W.P., Soh, K.L., Chong, C.L.: Differentiated service consumption and low cost production: striking a balance for a sustainable competitive advantage in Malaysia. Int. J. Prod. Econ. 181, 450–459 (2016). https://doi.org/10.1016/j.ijpe.2015.09.029
- Wu, P., Gao, L., Gu, T.: Business strategy, market competition and earnings management: evidence from China. Chin. Manag. Stud. 9(3), 401–424 (2015). https://doi.org/10.1108/CMS-12-2014-0225
- Yamin, S., Gunasekaran, A., Mavondo, F.T.: Relationship between generic strategies, competitive advantage and organizational performance: an empirical analysis. Technovation 19(8), 507–518 (1999). https://doi.org/10.1016/S0166-4972(99)00024-3
- Yao, Q., Qin, H.: Marketing capability, competitive advantage, and business performance. Int. J. Technol. Policy Manag. 16(3), 195–213 (2016). https://doi.org/10.1504/IJTPM.2016.079242
- Yeung, J.H., Selen, W., Sum, C.-C., Huo, B.: Linking financial performance to strategic orientation and operational priorities: an empirical study of third-party logistics providers. Int. J. Phys. Distrib. Logist. Manag. 36(3), 210–230 (2006). https://doi.org/10.1108/09600030610661804
- Zaefarian, G., Forkmann, S., Mitręga, M., Henneberg, S.C.: A capability perspective on relationship ending and its impact on product innovation success and firm performance. Long Range Plan. 50(2), 184–199 (2017). https://doi.org/10.1016/j.lrp.2015.12.023
- Zahra, S. A., Covin, J. G.: Contextual influences on the corporate entrepreneurship-performance relationship: a longitudinal analysis. J. Bus. Ventur. **10**(1), 43–58 (1995). https://doi.org/10.1016/0883-9026(94)00004-E
- Zehir, C., Can, E., Karaboga, T.: Linking entrepreneurial orientation to firm performance: the role of differentiation strategy and innovation performance. Proc. Soc. Behav. Sci. 210 (2015). https:// doi.org/10.1016/j.sbspro.2015.11.381